S S - - A5 —= AR 2. + =1 %5
~7”"F",_“l‘—"'A“‘*rﬁﬁk‘ﬂ%llz-&@i%‘%ﬁprﬁ“%—'kﬁpé%ﬂﬁizvﬂjgﬁéfﬁﬂ 112.09.28
p ~ pE =~ FRER
£ % % - i F PR PR A S 1]
T o (=) ek
W | =% R - Lok 20 1 YE
- 3. #rreE (DF % (DFFEFFE A Ji3spm
¥ | 08:10 . cE R R
- 3 RZ < BT + plsk = 0| (omreE: |
S 09:00 I $ iR 2. R #FE c(DESEBAF (D2 2247
5 09 : 20 By (=—3) (=) ¢ op Sk o1 (FTFERR ) pb-18
10 | = x - 2. (3% ) ¥ # A p52-58 ~ i v ¥ p6T-T2 -
g | % | 10020 L (F-R) O LIL3[RI R 4 B 5 ~ 7 5]
- _ ¥ (sEg) | 00 |0
11| % | 10:50 . e s 4U:9/1-9/30
= 3 3% 2 SFE A R
P& | 12700 R = re it Hw e (TN
& 4 . , KRR | ~4F
g 2; 13_.{30 By (E—%) Y 60 ‘*(klﬁ—i;%;—w?)
= | & | 1440 F2(F-R) ‘ ‘
15200 o] 60 | CHI~CH3 (p.25-26 % %)
LT 2 (=T~ R)
5 3 B (H—E) Y 60 |Ll~L2-1
16 : 10
% 08 :10 2 70 CH1 ~-3-2
" z p ¥
L 09 :00 i g 60 - F42-1~2-2
10 | % 09 : 20
| = 10—-? 20 w5 45 60 | CHI(# 54F3tied)
IBZ ¥ 1100 g (iz—%R) Bk g 60 | CHI~CH2
= I bl (3% &
5 127200 P (F-F) :
% ARER
| ¥ | 13:10 ral(=z—x) _ et e .
r 3 : R St PSS A LR REC ER T N A SR I8 IR L
T § | 14710 BY(F—R) TEI AR B LERANEFE > N ELRFER B
¥ | 14:30 e 2. RWIFWLAEE I KRETEMIF - RAFFARL -
L | 5Ea 2 (FEFHA) 3. WL WHMEABAE > PRF TS 180 B 0 X RB A Sl AR
ENREVEISFL o NZ AAKFEDTRER o

L R LRSFEEIE BII5 04 (F) U H 0 P A REEPE 4
SETH R B Y X

K10/122 )% 1 2R H% (FiFs e 2 A E1E 1 7 %E)



